
Newton’s 2nd Law ( F=ma)                      Name____________________________________ 
Period_____________ 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

F1=100 N 

 v = ? 

F2=100 N F1= 200 N 

 a = ? 

F2=100 N 

F1=100 N 

 v = 5 m/s 
Constant 

F2= ? F1= ? 

 a = -4m/s2 

F2 =100 N 

F1=200 N 

  ? 

F2=100 N F1=196.4 N 

 v = 6 m/s 
constant 

F2= ? 

F1=196.4 N 

 v = -600 m/s 
constant 

F2= ? F1=196.4 N 

 v = 0 m/s 
constant 

F2= ? 

  m = 10 kg 
   m = 10 kg 

 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
   m = 10 kg 

 

  m = 10 kg 
 

  m = 10 kg 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

F1=200 N 

   ? 

F2=100 N F1= 100 N 

 a = ? 

F2=100 N 

F1=100 N 

a = -3m/s2 

F2= ? F1= ? 

 a =  4m/s2 

F2 =100 N 

F1=2000 N 

  ? 

F2=1000 N F1=? N 

 v = 6 m/s 
constant 

F2= 100N  

F1=200 N 

 v = -600 m/s 
constant 

F2= ? F1=400 N 

 v = 0 m/s 
constant 

F2= ? 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
 

  m = 10 kg 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  m = 10 kg 

F1=200 N 
 

 a = 0 m/s2   

F2 = ? 

  m = 10 kg 

F1=200 N 
 

a = 10 m/s2   

F2 = ? 

  m = 10 kg 

F1=200 N 
 

a =-10 m/ s2   

F2 = ? 
  m = ? 
 

F1=200 N 
 

a =-10 m/ s2   

F2 =100 N 

  m = 10 kg 

F1=200 N 
 

? 

F2 = 300 N 

  m = 10 kg 

F1=200 N 
 

    ?   

F2 = 200 N 

  m = 10 kg 

F1=200 N 
 

v = -20m/s 
constant 

F2 = 300 N 
  m = ? kg 

F1=200 N 
 

a = 4m/s2 

F2 = 300 N 



 
 
  
 
 
 
 
 
 
 
 
 
 
       
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  m =  
10 kg 

F1=mg 
 

v = -20m/s 
constant 

F2 = ? 

  m =  
10 kg 

F1=mg 
 

a= 5m/s2 
UP 

F2 = ? N 

  m =  
10 kg 

F1=mg 
 

a= 5m/s2 
Down 
 

F2 = ? N 

  m =  
? kg 

F1=mg 
 

v = -20m/s 
constant 

F2 = 300 N 

  m =  
10 kg 

F1=mg 
 

motion ? 

F2 = 200 N 

  m =  
10 kg 

F1=mg 
 

Motion ? 

F2 = 300 N 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 

  m = 5 kg 

F1=100 N 
 

a =-10 m/ s2   

F2 = ? 
  m = ? 
 

F1=200 N 
 

a =-5 m/ s2   

F2 =100 N 

  m = 2 kg 

F1=200 N 
 

? 

F2 = 200 N 

  m = 4 kg 

F1=200 N 
 

    ?   

F2 = 400 N 

  m = 10 kg 

F1=200 N 
 

v = -20m/s 
constant 

F2 = ? N 

  m = ? kg 

F1=100 N 
 

a = 4m/s2 

F2 = 300 N 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 

F1=100 N 
 

a =-10 m/ s2   

F2 =30 N  

  m = 2 kg 

F3 = ? 

F1=100 N 
 

?    

F2 =300 N 

  m = 5 kg 

F3 = 40 N 

F1=100 N 
 

a =-10 m/ s2   

F2 = 200 N 

  m = 5 kg 

F3 =? N 

F1=100 N 
 

a =-10 m/ s2   

F2 = 40 N 

  m = 5 kg 

F3 = 60 N  

F1=100 N 
 

?   

F2 = 40N 

  m = 5 kg 

F3 = 30 N 

F1=? N 
 

a =-10 m/ s2   

F2 = 40 N 

  m = 1 kg 

F3 = 40 N  



 
 
 
       
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  m =  
10 kg 

F1=mg 
 

v = 0 m/s 

F2 = ? N 

  m =  
10 kg 

F1=mg 
 

v = 100m/s 
down const. 
 

F2 = ? N 

  m =  
10 kg 

F1=mg 
 

motion ? 

F2 = 200 N 

  m =  
10 kg 

F1=mg 
 

Motion ? 

F2 = 50 N 

  m =  
10 kg 

F1=mg 
 

v = 100m/s 
UP const. 
 

F2 = ? N 

  m =  
? kg 

F1=mg 
 

a =5 m/s2 
up 

F2 = 50 N 


